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1.There are 53 turnips and 41 melons in the garden. How many more turnips are there than melons?





2. Ty has 93 grapes and Max has 64 grapes. How many more grapes does Ty have than Max?





3.Jason has 64 shirts and Bella has 39 shirts. How many more shirts does Jason have than Bella?





4. There are 61 lions and 49 elephants in the zoo. How many more lions are there than elephants?





5. Pearl has 31 ribbons and Ryan has 17 ribbons. How many more ribbons does Pearl have than Ryan?


6. Jade has 38 pencils and Frank has 23 pencils. How many more pencils does Jade have than Frank?




7. There are 43 robins and 31 woodpeckers in the tree. How many more robins are there than woodpeckers?





8. Mark has 31 pencils and Anna has 18 pencils. How many more pencils does Mark have than Anna?





9. David has 85 marbles and Jake has 60 marbles. How many more marbles does David have than Jake?





10. Jade has 43 blocks and Henry has 28 blocks. How many more blocks does Jade have than Henry?
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